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	 Correction to Rel-11 eMDT test case 8.6.3.4
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	Reason for change:
	As per Table 4.7B.1-3: MEASUREMENT CONTROL of 36.508, Value to be used for IE “Thresholdothersystem” is specified as -55, where as the actual value shall be (Threshold other system - 25 [dBm] = -80 dBm). However in the test case implementation for 8.6.3.4 Measurement Control message uses a value of -80 for threshold “ThresholdOtherSystem”, which will lead to an actual value of (-80 – 25 = -105 dBm), which is wrong. 
This will lead to device treating the above threshold as -105 dBm instead of -80 dBm and shall report event 3a for all those cells, for which the Measurement value is better than -105 dBm. 

UE will report both Cell1(Earfcn 3100) and Cell 12(Earfcn 3425) in Measurement report(MR) at Step 14 because Earfcn 3100 is configured in SIB19 and Measurement of Earfcn 3100 is better than the wrong threshold value (-105 dBm) supplied in the measurement control message.

	
	

	Summary of change:
	Correction of the default template cs_InterRATEvent3a_Def used to set the IE “thresholdOtherSystem” to use the correct value -55 instead of -80.

	
	

	Consequences if not approved:
	Conformant UE will fail the test case.
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Change 1 
	Function name
	cs_InterRATEvent3a_Def 

	Reason for change
	As per Table 4.7B.1-3: MEASUREMENT CONTROL of 36.508, Value to be used for IE “Thresholdothersystem” is specified as -55, where as the actual value shall be (Threshold other system - 25 [dBm] = -80 dBm). However in the test case implementation for 8.6.3.4 Measurement Control message uses a value of -80 for threshold “ThresholdOtherSystem”, which will lead to an actual value of (-80 – 25 = -105 dBm), which is wrong. 

This will lead to device treating the above threshold as -105 dBm instead of -80 dBm and shall report event 3a for all those cells, for which the Measurement value is better than -105 dBm. 

UE will report both Cell1(Earfcn 3100) and Cell 12(Earfcn 3425) in Measurement report(MR) at Step 14 because Earfcn 3100 is configured in SIB19 and Measurement of Earfcn 3100 is better than the wrong threshold value (-105 dBm) supplied in the measurement control message.

	Summary of change
	Correction of the default template cs_InterRATEvent3a_Def used to set the IE “thresholdOtherSystem” to use the correct value -55 instead of -80.

	TTCN module
	\LTE_A_R10_R11\Common\UTRAN\UTRAN_RRC_Templates.ttcn

	MCC160 Comment
	


Before change

template (value) InterRATEvent cs_InterRATEvent3a_Def :=

  { // Default values according to 36.508 Table 4.7B.1-3: MEASUREMENT CONTROL for Inter-RAT

    /* @status    APPROVED (LTE_A_IRAT, LTE_IRAT) */

    event3a := {

      thresholdOwnSystem    :=  -66,

      w                     :=    0,

      thresholdOtherSystem  :=  -80,
      hysteresis            :=    0,

      timeToTrigger         :=   ttt10,

      reportingCellStatus   := {

        withinActSetOrVirtualActSet_InterRATcells := e2

      }

    }

  };
After change

template (value) InterRATEvent cs_InterRATEvent3a_Def :=

  { // Default values according to 36.508 Table 4.7B.1-3: MEASUREMENT CONTROL for Inter-RAT

    /* @status    APPROVED (LTE_A_IRAT, LTE_IRAT) */

    event3a := {

      thresholdOwnSystem    :=  -66,

      w                     :=    0,

      thresholdOtherSystem  :=  -55,
      hysteresis            :=    0,

      timeToTrigger         :=   ttt10,

      reportingCellStatus   := {

        withinActSetOrVirtualActSet_InterRATcells := e2

      }

    }

  };

